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����%�Q' 
"�'510�6��*(7�����"�/�$*��8���8 -09����&+�:����/��������;<=>??@�;� !�"�#$�%�$��� &��'�( &)�$(

�����' A�$;<=��<��#�,���!��A�$��B��%-09�-*�C,�� C�;����-0��$�-#�$� !%��/��#�,-�D��"��" E%6"�-*��6!(
7=� )%���;<=F%������6!"G��-�C�� ���* 5+�'1%�*  2551 F�"G�*"�/�����F%�����-FC,�%�F%�����>??@� 4 "��� 
(1) ;<=!%��?%)��-��-L�L( T5/28 "�''( (2) '��'�8�-*�C,��0�������&<���0�6��#��.�F�)� (3) %����#�����7��
�6��>??@�E���"G�� 1 <�,"A �'G�"�� (4) %����#�����7���6��0�������& 1 <�,"A �'G�"�� A�$���;<="������
#�8�! �-FC,����/�����F%����� /��7=� )%���;<=F%�����>??@�#�,���#+��G��!�=���8 ���;<=F%�����>??@�/6%�%� 
31,765,772.91 ��#'G�0U !�C�0�6 �V�=�$%6 15.56 
 

�R��R���S : ������!��/�����  F%�����>??@� 
 

Abstract 
The objective of this research is to study the management of electricity usage in Thammasat University, 

Rangsit Campus using the index set by the government as a tool for comparison. After collecting and analyzing 
the energy usage data from March to October 2008, it was found that there are 4 energy management methods 
to reduce the electrical power used: (1) use fluorescent lamp T5/28 watt, (2) install high efficiency air-
conditioning units, (3) reduction of the use of lighting system by 1 hour per day, (4) reduces the use of air-
conditioning system for 1 hour per day. By using these approaches to energy management, the use of electrical 
energy can be reduced by 31,765,772.91 bahts per year or about 15.56 percent. 
 

Keywords: management, electrical energy  
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1. ���R� 
/��F�6��<�l:m���"G��="$!%��-�Vn(E%6

"���������!����/����=��- C��#�,�� F.&. 2546 [1] 
���!��-0@�! �$7��������!����/����=��- C��#�,��
;!=-09�>0-FC,�0�6A$<�(�177��0�6<�<� -���
q%�� l#��r'G�.����/7����B  �0�6��#��.�FE%6-���
*"� *1= *G�;�-<��.����/7����B %�7�8�'�����
0s���'����#�,-���/��-09� �" #�8� ����0�6- ��q%���
0s���'�����$G��� ,��-� � -FC,� 1G��)G���-09���*(���#�,
 �7��� ��5�6�)�  

���������*V6��� ���F�t���6����<��� 
/+ � >�= �� �!��'� "<�8 "� � E%6*G � -0@ �! �$;����
���-������*C��6���*"� ���-�D/7���G"���<���E%6
!�G"$���7����B;����0���0�1�E%6$��6���
*1V.�F������!�����'� Eq�F�t����*(���E%6 
q%�����;!=�G"���<������Eq����0���0�1���*(��
>0�)G���0s���'� A�$�G�-��� ;!=���-*�C,�� C�#�����
���!��� �$;! G �;<=�$G�� �0�6��#��q% A�$
���������*V6��� ���F�t���6����<���>�=
���!��-09�'�"<�8"�����*��7���G"���<��� 

;��G"����;<=F%�����7��.�*��B ��B��%>�=
���!��'�"<�8"��0�6��#��.�F (key performance 
index; KPI) 7��!�G"$��� A�$���������F%�����
E!G�<�'�>�=���!��'�"<�8"��0�6��#��.�F7��!�G"$
��<��� A�$;<="���0�6- ��/��q%���%����;<=
F%����� 10-15% A�$-#�$�������;<=F%�����;�0U 
F.&. 2546 ��8� /�����;<= �'����%����;<=F%�����
����%G�" F�"G� �*"� > G -09���� ���!������
!�G"$�����<��� -�C,��/�����!�G"$�����//6 �
.��6���#�, ��7+8�  �q)=;<=������ ��7+8� L+,��G�q%;!=
!�G"$���> G�� ��5%����;<=F%�����>�= #��;!=
!�G"$��� ����%�0�6��#��.�F;����#����� -<G� 

%����;!=������ ��;<=�10��V(���������'G��{ 
0���-0%�,$���0�6 �V -09�'=� �����8����������/+�
>�= �E�"*��;����;<=*G� �'�B�����/��������;<=
F%����� �;<=-09�'�"<�8"��0�6��#��.�F7��!�G"$��� 
[2,3,4] 

���������F%�����E!G�<�'� /+�>�=-���'G�
*V6��B �'��;����0�6<1 - C,�"��#�, 13  ���*  F.&. 
2550 -FC,�7�;!=;<= -�Vn( �'�B�����/�����;<= 
F%�����7��!�G"$�����<��� ;����0�6- ��q% 
E%6��� ����!��-09�'�"<�8"��0�6��#��.�F7��
!�G"$��� L+,�*V6��B �'��-!D��="$���!%��-�Vn(#�,
#�����������F%�����E!G�<�'�>�=-��� E%6;!=#��
-�Vn(;! G>0;<=;�0U F.&. 2551 *G� �'�B�����
/�����;<=F%�����! �$5+�0�� �V���;<=F%�����#�,
*"�/6-09�7��!�G"$���#�,���!�� A�$*���+�5+�0|//�$
!%��#�, �q%'G����;<=F%�����7��E'G%6!�G"$��� 
-<G� FC8�#�,;<=��$.�$;���*�� /���"��1*%��� -"%�
;����0s���'� � ��  �1V!.) �  -09�'=�  �� ���8�*G �
 �'�B�����/�����;<=F%�����/+�-09�'�"#�,�6#=��
5+�*"� '=�����;<=>??@�E%6�8�� ��-<C8�-F%��#�,E#=/���
7��!�G"$��� 

�="$-!'1q%��8 -�� !�"�#$�%�$��� &��'�( 
&)�$(�����' L+,�-09�!�G"$��<���#�, �7���;!}G  �FC8�#�,
E%6��*��/���"� ��  �*G�;<=/G�$�=��F%�����>??@�
;�0U F.&. 2550 �" #�8���8� 57,753,086.50 ��A%"�''(
<�,"A �/0U *��-09�-��� 184,102,634.40 ��# E%6 �
E�"A�= #�,/6�)�7+8����;����*'/+�*"����!��
$1#�&��'�(;�������!��/�����;<=F%�����-FC,�%�
���;<=F%�����7��!�"�#$�%�$��� &��'�( &)�$(
�����' E%6�� ��5qG��-�Vn(0�6- ��q%'�"<�8"��
0�6��#��.�F.�*���*��7�����0s���'���<���7��
!�G"$���>�= 
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2. ��	Z*��
�+�
 
2.1 -FC,�&+�:�E%6"�-*��6!(*"� '=�����;<=

F%�����>??@�7�� !�"�#$�%�$��� &��'�( &)�$(
�����' E%6E�"A�= ;����*' 

2 . 2 - FC, � %�� � � ; <= F %� � � ��>??@ � 7 � �
 !�"�#$�%�$��� &��'�( &)�$(�����' /�qG��-�Vn(
���0�6- ��q%'�"<�8"��0�6��#��.�F7��!�G"$��� 

2.3 -FC,�&+�:�q%'��E#�#��-&�:B��//��
���0���-0%�,$�0|//�$#�, �q%��6#�'G����;<=>??@� 

2.4 -FC,�/�����E%60���0�1����;<=F%�����
>??@�7�� !�"�#$�%�$��� &��'�( &)�$(�����';!=�$)G
;�*G� �'�B�����/�����;<=F%����� 
 

3. 1'��1	����\�P� 
���/�����E%60���0�1����;<=F%�����>??@�

' � '� "<�8 "� �0�6��# �� . �F7����* ��.�$;�
 !�"�#$�%�$��� &��'�( &)�$(�����' '� Eq�.) �
��10"������/�����E%60���0�1����;<=F%�����>??@�
7�� !�"�#$�%�$��� &��'�( &)�$(�����' (�)0#�, 1) 
-FC,�-���"������0�6!$��F%�����;!=��� !�"�#$�%�$ 
��� &��'�( &)�$(�����' 
 

4. 1�]�	'�����\�P� 
4.1 '�8�-�Vn('� *G� �'�B�� KPI 
4.2 ����"/���;<=F%�����7����*��.�$;�

 !�"�#$�%�$��� &��'�( &)�$(�����' #�8�! � 
4.3  ���q%#�, >�=/���������"/;�7=� 4 .2 

-0��$�-#�$����*G� �'�B��E%6*G� KPI 
4.4 5=� ���*��#�,> GqG��-�Vn('� *G�

 �'�B�� KPI ;!=#��������!��"������0�6!$��
F%����� -<G� ;<=�10��V(0�6!$��F%����� ���!��

Fl'���� ���;<=F%�����.�$;���*��#�,> GqG��
-�Vn('� *G� �'�B�� KPI #�8�! � 

4.5 0�6- ��q%���0�6!$��F%�����E%6���
q%���0�6!$��F%�����-0��$�-#�$����-�Vn('� *G�
 �'�B�� KPI 5=���*��#�,qG��-�Vn(E%="-�D�7=� )%>"=
-FC,�#��;�.�F�" ���*��8�!�+,� E'G5=�> GqG��-�Vn(;!=
���!��"������0�6!$��F%�����;�7=� 4.2 ;! G E%6
���-������'G�;�7=� 4.3-4.4 'G�>0 

4.6 5=�> GqG��-�Vn('� *G� �'�B�� KPI ���
q%�" ���;<=F%�����#�8�! �7��#1���*���" -09�
0�� �V���;<=F%�����7�� !�"�#$�%�$��� &��'�( 
&)�$(�����' '� 7=� 4.4 'G�>0 !��qG��-�Vn(;!=
���-������'G�>0 
 

 
 

�#���� 1 ��10"� �����/�����E%60���0�1 ����;<=
F%�����>??@�7�� !�"�#$�%�$��� &��'�( 
&)�$(�����' 
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4.7 - C,���*��#1���*��qG��-�Vn('� *G�
 �'�B�� KPI E%=" ���q%�" ���;<=F%�����#�8�! �
7��#1���*���" -09�0�� �V���;<=F%�����7��
 !�"�#$�%�$��� &��'�( &)�$(�����' 

4.8 -�Vn('� *G� �'�B�� KPI 7��
 !�"�#$�%�$��� &��'�( &)�$(�����' -0��$�-#�$����
*G� �'�B�� KPI !��qG��-�Vn('� *G� �'�B�� 
KPI �� �5���!��-09� �'����-FC,����0�6!$��
F%�����'� -�Vn('� *G� �'�B�� KPI 

4.9 "�-*��6!(/1�*1= #1�#��-&�:B&��'�(E%6
-0��$�-#�$�q%0�6!$��;����%�#1����!��/�����
���;<=F%����� 

4.10 /��#����$���q%���&+�:� 
 

5. ������
2
"�����\�P� 
���/��#�� �'����A�$�" 7�� !�"�#$�%�$ 

��� &��'�( &)�$(�����' -FC,�%����;<=F%�����>??@�
A�$�" #�8� 4  �'���� 

5.1  �'����-0%�,$�!%��?%)��-��-L�L( 
T8/36 "�''( -09�!%��?%)��-��-L�L( T5/28 "�''( 
/���"� 127,900 !%�� 

5.2  �'����-0%�,$�-*�C,��0�������&E��
E$��G"� (spilt type) /���"� 243 -*�C,�� -09�
-*�C,��0�������&0�6��#��.�F�)� 

5.3  �'����%�<�,"A ����#�����7���6��
>??@�E���"G�� 148,472 !%�� 1 <�,"A �'G�"�� (;�
�G"����-��$�������) 

5.4  �'����%�<�,"A ����#�����7���6��
0�������& /���"� 4,670 -*�C,�� 1 <�,"A �'G�"�� (;�
�G"����-��$�������) 

q%���/�����E%60���0�1����;<=F%�����
>??@�7�� !�"�#$�%�$��� &��'�( &)�$(�����' 

1.  �'����-0%�,$�!%��?%)��-��-L�L( 
T8/36W -09�!%��?%)��-��-L�L( T5/28W -�F�6
��%%��'(E��-!%D��)}-��$F%����� 10 "�''( -09�
/���"� 127,900 !%�� 0�� �V���;<=F%����� 
12,083,385.60 ��A%"�''(<�,"A �/0U %����;<=F%�����
>??@�>�= 3,804,050.03 ��A%"�''(<�,"A �/0U -09�-��� 
14,036,944.61 ��#/0U %�F%�����>??@��)��1�>�= 
1,801.16 ��A%"�''( -09�-��� 2,873,138.37 ��#/0U �" 
-09�-���#�8���8� 16,910,082.97 ��#/0U -���%�#1�#�8���8� 
44,765,000.00 ��# �6$6-"%�*C�#1� 2.64 0U ��'��
q%'��E#�A*����� (IRR) 18% ��A%"�''(<�,"A �
%�%� 6.93% (0U F.&. 2553 *��#�,��'�� 3.69 ��#/
��A%"�''(<�,"A �) 

2.  �'����-0%�,$�-*�C,��0�������&E��E$�
�G"� /���"� 243 -*�C,��-09�-*�C,��0�������&
0 � 6 �� # �� . � F �) �  0 ��  � V � � � ; <= F %� � � � � 
2,274,016.80 ��A%"�''(<�,"A �/0U %����;<=F%�����
>??@�>�= 907,603.49 ��#/0U -09�-��� 3,349,056.87 
��#/0U %�F%�����>??@��)��1�>�= 52.65 ��A%"�''( 
-09�-��� 83,985.17 ��#'G�0U �" -09�-���#�8���8� 
3 , 4 3 3 , 0 4 2 . 0 4  � � #'G � 0U  - �� � % � #1 � #�8 � ��8 � 
11,887,272.00 ��# �6$6-"%�*C�#1� 3.46 0U ��'��
q%'��E#�A*����� (IRR) 24% %�%�*��-09� 
1.65% (0U F.&. 2553 *��#�,��'�� 3.69 ��#/��A%"�''(
<�,"A �) 

3.  �'����%�<�,"A ����#�����7���6��
>??@�E���"G��?)%��-��-L�L( /���"� 148,472 
!%�� 1 <�,"A �'G�"�� (;��G"����-��$� ������) 
0�� �V���;<=F%����� 7,102,682.19 ��A%"�''(
<�,"A �/0U %����;<=F%�����>??@�>�= 887,835.27 
��A%"�''(<�,"A �/0U -09�-���0�6 �V 3,276,112.14 
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��#/0U ��A%"�''(<�,"A �%�%� 1.62% (0U F.&. 2553 
*��#�,��'�� 3.69 ��#/��A%"�''(<�,"A �) 

4.  �'����%�<�,"A ����#�����7���6��
0�������&/���"� 4,670 -*�C,�� 1 <�,"A �'G�"�� (;�
�G"����-��$�������) 0�� �V���;<=F%����� 
23,538,715.02 ��A%"�''(<�,"A �/0U %����;<=F%�����
>??@�>�= 2,942,339.38 ��A%"�''(<�,"A �/0U -09�-���
0�6 �V 10,257,121.94 ��#/0U ��A%"�''(<�,"A �
%�%� 5.36% (0U F.&. 2553 *��#�,��'�� 3.69 ��#/
��A%"�''(<�,"A �) A�$> G ����%�#1� 
 

6. ��*�"������)�� 
!%��/��&+�:����'�"/���E%6"�-*��6!(���

;<=F%�����7����*�� !�"�#$�%�$��� &��'�( &)�$(
�����' F�"G���*��#�,> GqG��-�Vn( �'�B�� 1 ��*�� 
*C� ��*���5����-#*A�A%$�����<�'�������� A�$*G�
��<��<�8"��0�6��#��.�F���;<=F%����� (EUI)  �*G�      
-0.12 E%6- C,�0�����6�"����;����;<=F%�����
7����*��qG��-�Vn( �'�B��E%=" E%6���q%���;<=
F%�����7����*�� ����-������/��#��7=� )%A�$�" 
#�8�! �7�� !�"�#$�%�$��� &��'�( &)�$(�����' (;�
�G"����&+�:�) F�"G����;<=F%����� �*G�qG��-�Vn(
 �'�B��A�$*G���<��<�8 "��0�6��#��.�F���;<=
F%����� (EUI)  �*G� 0.34 

/��q%���&+�:�"������%����;<=F%�����
>??@�7����*��;� !�"�#$�%�$��� &��'�( &)�$(
�����' (�G"����&+�:�) F�"G� �!%�$"���;����%����
;<=F%�����>??@�%�>�= A�$ �E�"#��!%��{ �$)G 2 
E�"#��*C� 

6.1 ���%����;<=F%�����A�$> G'=��%�#1�
0���-0%�,$��10��V( A�$���0���%�<�,"A ����

#�����7���6��0�������&"��%6 1 <�,"A � !�C�
 ���"G� 

6.1.1 0���%�<�,"A ����#�����7���6��
>??@�E���"G�� 1 <�,"A � 

6.1 .2  0���%�<�, "A ����#�����7��
�10��V(>??@��C,�{ '� *"� -! �6�  

6.2 ���%����;<=F%�����A�$���%�#1�
0���-0%�,$��10��V( A�$��� 

6.2.1 -0%�,$�!%��?%)��-��-L�L(E�� 
T8/36W - 09 � E � �  T5/28 W F �= �  �� % % � � '(
��-%*#������( 

6 . 2 . 2  -0%�, $� -*�C, � �0�������&#�,  �
0�6��#��.�F',��-09�-*�C,��0�������&0�6��#��.�F
�)� 

/�����&+�:�;�*��8���8 >�=;<="������%����;<=
F%�����7=��'=�#1��G"� �� ��5#��;!=��*���5����
-#*A�A%$�����<�'��������qG��-�Vn( �'�B�����
/�����;<=F%�����7���G"���<���>�= E%6$��-09�q%
;�.�F�" 7�� !�"�#$�%�$��� &��'�( &)�$(�����' 
#�,�� ��5%����;<=F%�����>??@�A�$�" >�= E%6
*��"G�;�0U��0�6 �V 2552  !�"�#$�%�$ 
��� &��'�( &)�$(�����' /6 �*G���<�����;<=F%�����
> G�=�$�"G� 0.59 F%�����>??@�%�%� 8,541,828.17 
�� A %"� ' '( <�, " A  � / 0U  %� *G � F%� � � �� >??@ � > �= 
31 ,765 ,772 .91  ��#/0U  - ���%�#1�#�8 ���8 � 
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